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Sketch ’epangles in standard position illustrating the angle S111 E 6 tih sol

arcsinx =sin"'y +360n or (180 - sin~? y) + 360n

arcsinx =sin"'y+2mn or (w—sin"ly) + 2nn
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Sketch \N.\angles in standard position illustrating the angle tan . E Sols
arctany = tan~'y + 180n
= \ 3 arctanlj- = tan‘lg + nn
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Find the general solution for 8 or x.

la) 6 =arc cos(0.6) b) x=arc cos(-0.5)
P - p & b —
8 = LADS D1 + 36D A ')(:i'CLS!('OS) ) AN
2a) 6 =arc sin(0.8) b)  x =arcsin(0.4)
5 = sin(0) #3b , x = siw (o) ¢ AT
b= 150 — &y (0,%) 5005 P
X = TP = Sin (0.4 +aTn
3a) @ =arctan(l.5) b)  x=arctan(2)

b: tan™ (LS) UCE x = ton” (2) £ T



